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(kg/hr) (kg/hr) (kg/hr) (/)
(a) |[FrEEH - §/NEFEE(BFEENENARER)
Feckir ™ 2277 0.004 - 0.371 0.009 =
LA M 1.512 0.000 - 0.615 0.104 =
/L% (HCI) 4.545 0.053 - 0.204 0.127 2
SAEE (HF) 0.306 0.000 - 0.123 0.023 =
—ZMEWT (SO2) 15.147 0.162 - 8.074 2.675 H
—%& Ll (CO) 7.578 0.003 - 1.962 0.081 =
FALY) (NOx)
PLIZ&AEE (NOy) 30.303 0.680 - 8.230 1.919 =
EFE
(b) | FrEEH - HISE (HREHIRENLARERE)
AR 0.756 0.006 - 0.039 0.010 =
SN 0.756 0.038 - 0.152 0.103 =
/L& (HCI) 0.756 0.097 - 0.153 0.126 2
SAEE (HF) 0.072 0.000 - 0.037 0.023 =
—&/EHi (SO2) 3.789 2.342 - 3.061 2.685 =
—&{Ef% (CO) 3.789 0.040 - 0.183 0.083 =
FHAY (NOx)
DL=%AEE (NO2) 15.147 1.028 - 3.003 1.944 2
SR
28 HERREO RS S ERE
(kg/hr) (kg/hr) (/)
) BHEN (HZB{LERFTEE)
7K 0.003789 <0.0003 =
R pEHY A E 0.003789 <0.0012 =
R A 0.0378 <0.0052 &
T Ry g ) 7.575 x 10 <5.757 x 10 =
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(kg/hr) (kg/hr) (kg/hr) (/)
(a) |[FrEEH - §/NEFEE(BFEENENARER)
Feckir ™ 2277 0.002 - 0.014 0.004 =
AT 1.512 0.000 - 0.745 0.081 =
/L% (HCI) 4.545 0.018 - 0.156 0.058 2
SFAEE (HF) 0.306 0.010 - 0.051 0.021 =
—ZMEWT (SO2) 15.147 0.131-8.030 2.670 Y
—& (L% (CO) 7.578 0.003 - 0.188 0.032 =
FE(EY (NOx)
PLIZ&AEE (NOy) 30.303 1.265 - 10.812 2.804 =
R
(b) | FrEEH - HISE (HREHIRENLARERE)
AR 0.756 0.003 - 0.007 0.004 =
SN 0.756 0.027 - 0.118 0.080 =
/L& (HCI) 0.756 0.043 - 0.098 0.058 2
LS (HF) 0.072 0.015 - 0.034 0.021 =
—&dEHR (SO2) 3.789 2.466 - 2.930 2.667 2
—&{Ef% (CO) 3.789 0.016 - 0.061 0.032 =
FEIEY (NOx)
DI=&AEE, (NOy) 15.147 1.835 - 3.790 2.803 =
SR
S8 HERREO BERaE R ERE
(kg/hr) (kg/hr) (/)
) BHEN (HZB{LERFTEE)
7K 0.003789 <0.0003 =
R pEHY A E 0.003789 <0.0013 =
R A 0.0378 <0.0059 &
T Ry g ) 7.575 x 10 <6.483 x 10 =
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(kg/hr) (kg/hr) (kg/hr) (/)
(a) |[FrEEH - §/NEFEE(BFEENENARER)
Feckir ™ 2277 0.003 - 0.163 0.006 =
4 1512 0.019 - 0.851 0.084 2
/L% (HCI) 4.545 0.063 - 0.248 0.140 =
SFAEE (HF) 0.306 0.012 - 0.068 0.032 =
—ZMEWT (SO2) 15.147 0.255 - 6.947 2.504 H
—& (L% (CO) 7.578 0.002 - 0.099 0.038 =
FALY) (NOx)
PLIZ&AEE (NOy) 30.303 0.867 - 12.012 1.937 =
EFE
(b) | FrEEH - HISE (HREHIRENLARERE)
AR 0.756 0.004 - 0.018 0.006 =
SN 0.756 0.029 - 0.176 0.084 =
/L& (HCI) 0.756 0.073 - 0.202 0.139 2
LS (HF) 0.072 0.019 - 0.048 0.032 =
—&4bHi (SO2) 3.789 2.089 - 2.831 2.505 2
—&{Ef% (CO) 3.789 0.014 - 0.071 0.038 =
FHAY (NOx)
DI=&AEE, (NOy) 15.147 1.325 - 3.001 1.938 =
SHE
S8 HERREO RS S ERE
(kg/hr) (kg/hr) (/)
) BHEN (HZB{LERFTEE)
7K 0.003789 <0.0003 =
S SE VAR 0.003789 <0.0012 =
R A 0.0378 <0.0055 &
g I Ry ki) 7.575 x 10 <6.073x 10 =
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